10?

1/c do/d(1-T)

10

Ratio to ALEPH

0.5

206 GeV ee vy*/Z (Hadronic)
T~ r - rrrro Tt | I I B B L B
- ]
— ix‘ —
= . =
n B N
B . |
I \\E:::\ -
— - ‘ﬁl‘::: - 3
- %5 =
— ‘\\\\\\ p—
= " 3
— B ALEPH [ -
[ --©-- Herwig++ 2.5.2 default _
— --4-- Herwig 7.2.1 default —
:l | | | | | | | | [ | | | | I ] | |:
:l T T T T | T T T T | T T | T T T T |:
- ) E
| o N /,@ _|
I T — .

“G"‘U \\:\\62” N N /’,’ |
E \6,

o . i
] i
| " 1 1 1 1 " | 1 1 1 1 " | 1 1 " | " 1 1 " 1 1 |
0 0.1 0.2 0.3 0.4

Rivet 3.1.10, = 500k events

mcplots.cern.ch [arXiv:1306.3436]

N



	Contents
	Page 1


